Year 3/4 Adapted Home Learning Pack w/c 15" February 2021

These are ideas of things that you could have a go at completing each day:

e 20 minutes of reading
e 20 minutes of times tables practice (Times Tables Rockstars or Hit the Button)
e 20 minutes of Spellings (Spelling Shed)

Spelling:

Practise these words 5 times each on a piece of paper everyday: every, everybody, eye, fast, father
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Reading:

1) Read the sentences in the box. Now find and underline the word 'thinking'.

Christmas was over at Grandmother's house. Barney lay in the
bed thinking if there was anything to look forward to that day.

2) What was over?

3) What was Barney thinking?

4) Read the words and circle all the words with the ‘NG’ grapheme in them.

today bring queen singing
thing pulling string child
ring swing thinking playing

5) Write words for each picture (look at the words above for help).

t\ 4 \\\ix\ \

6) Write words with the ‘"NQ’ grapheme in them.




1) Read the sentences in the box. Now find and underline the word ‘right'.

Stig's black eyes lit up and he looked around for something.
Right in front of him was a tall ash tree with a trunk at least
two feet thick.

2) What colour were Stig's eyes?

3) Describe the tree.

4) Read the words and circle all the words with the ‘@ grapheme in them.

butter plaster faster her
sister singer dinner chin
children she farmer dinner

5) Write words for each picture (look at the words above for help).

Elastoplast

RESISTANT ANCH OR '
2500 =y

6) Write words with the ‘@ grapheme in them.




1) Read the sentences in the box. Now find and underline the word ‘couldn't'.

The sky was getting grey and dark and an icy wind had begun to
blow, but they did not notice it. Barney looked up and saw
something white floating down from the sky.

2) Find and copy 2 adjectives used to describe sky.

3) What did Barney see?

4) Read the words and circle all the words with the 'Ur* grapheme in them.

blur turnip burn path
over think growth nurse
fur burp churn turn

5) Write words for each picture (look at the words above for help).

6) Write words with the 'UP grapheme in them.




1) Read the sentence in the box. Now find and underline the word ‘excited'.

Stig took the box and hid it in his bed. It was clear he thought
a match was a very precious thing indeed.

2) Where did Stig hide the box?

3) What did Stig think about a match?

4) Read the words and circle all the words with the '0i' grapheme in them.

because join oil choice
coil tooth grain foil
coin soil boil voice

5) Write words for each picture (look at the words above for help).
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6) Write words with the 'Oi’' grapheme in them.




1) Read the sentence in the box. Now find and underline the word ‘between'.

Barney ate twenty-three chestnuts! He felt full and warm. He
lay looking at the fire and at the shadows dancing on the walls
of the cave.

2) What did Barney eat?

3) How did Barney feel?

4) Read the words and circle all the words with the 'llI' grapheme in them.

shell sell hill bell
she till soak speller
seller controller spell till

5) Write words for each picture (look at the words above for help).

6) Write words with the 'll' grapheme in them.
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Can you finish these sentences by looking at the pictures? Write your sentences on a piece of paper.

Writing:
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Maths - Number bonds:

Number Bonds to 20

Can you find the missing numbers on the coins?

Maths - Counting in 10s

10 Times Table Activities

Count in 10s and colour in the grid:

1 2 3| 4 5 [ 7 8 | 9|10
m |12 |13 |14 |15 |16 |17 |18 | 19 | 20
21 | 22 | 23 |26 |25 | 26 | 27 | 28 | 29 | 30
31 | 32 | 33 | 34 | 35 | 36 | 37 | 38 | 39 | 40
1 | 462 | 43 | 46 | 45 | 46 | 47 | 4B | 49 | 50
51 | 52 |53 |56 |55 |56 |57 (58|59 |60
61 | 62 | 63 | 6L | 65 | 66 | 6T | 6B | 69 | TO
m |72 |73 |76 |75 |76 | 77T |78 | 79 | 8O
81 | 82 | B3 |84 | B5 | B6 | BT | 88 | 89 | 90
91 | 92 | 93 | 94 | 95 | 96 | 97 | 98 | 99 |100

101 | 102 | 103 | 104 | 105 | 106 | 107 | 108 | 109 | 110
m |12 | 113 | 14 | 115 | 116 | 117 | 118 | 119 | 120

Work out these answers:

a) 2 x 10 = d) 6 x 10 =
b) 10 x 10 = €) 12 x 10 =
) 5x10 = fla=x10=

How many cubes are there? There are 10 cubes

per stack.
ﬂ.} ® =
<:':h
b) 1 X =
1
i X =
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Maths - Missing nhumbers




